
Subtracting decimals
Answer the word problems

A book used to cost $7.40. Its cost was just lowered by $2.30. What 
is its current price?

Paul has $5.50 in his piggy bank. He gives $1.90 to his brother. How 
much is he left with?

Justine has $9.00 in her piggy bank. She spends $3.50 on candy. 
How much does she have left?

Arnold wanted to sell 33 pounds of beans today, but he only sold 12 
pounds. How many pounds does he have left?

Judy draws a 4.6-inch line, then erases 4.1 inches of it. How long is 
the remaining line?

Molly finds $8.20 and gives $4.10 to Francis. How much does Molly 
keep?


